
Устный 
счет



1.  Доведи до круглого числа

36-…                       91-…
45-…                       82-…
24-…                       56-…
23-…                       68-…
77-…                       99-…



2. Назови компоненты действий и 
результаты (исправь ошибки)

45       +      3      =      48

2 

слагаемое

уменьшаемо
е

1 
слагаемое

сумма

разность

вычитаемое

  64         -       2        =       62



3. Сравни 
величины

1 м=…см
1 см =… мм
1 м = …дм

1м 3 дм… 14дм
6дм 3см… 70см
99см.. 9дм 9см

1р= …к
1р…79к
1ч = …мин
81 мин…1ч 3 мин

1 м=100 см
1 см =10 мм
1 м =10 дм

1м 3 дм  ‹14дм
6дм 3см ‹ 70см
99см = 9дм 9см

1р= 100к
1р›79к
1ч = 60мин
81 мин › 1ч 3 мин


